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And this master maintains — 120 M

OVERVIEW

The X3 (currently) establishes the nponn between " »n"3 and X" "3 as to
whether 2";7172 0 is Mo (the view of > n"7) or 217 (the view of TTYOR "1 °").
Our NN reconciles the view of X"7 here with X" elsewhere.

- 29N 9390 MY YaN 729N NTYVa ND) 9NN N7V 93 9TYIN 229 1\’)1‘1’2
The explanation of the statement that X' maintains that the p105 of 77w2a 2y
IR comes to exclude paam ATWa K Hax is that pmn A7w is the only exclusion,
however if the 772772 ate 2'"'5192 he is 2%

nooIn asks:
= 11990 %395 N’ RY22D YN 1397 MN (x,m) DYDY RNT 9INN ON)

And if you will say; but previously the X713 stated that X''9 agrees with ©''9 that
P11 7XM2 1P pays a W'l -

- ©53297 MY 109 539 W 19 BX) >nY 1191 ‘05390 MWAa 1991 Tha9
And perforce you must say that X"1 (also) derives this ruling through a “mm 5p

from ="'71m2 372, so therefore we must assume that ®am 32 are 2"';71m2 MWL, how
can we say here that X"1 (and *"7) maintain that 7"7772 2 is 2»n7?!

MDOIN answers:
INONT NIPONN 299 39951 DI¥5T Yy W
And one can say; that the previous X7 was discussing the view of X",

according to the conclusion of the X773 here, which is that all agree that 1" are D
"2,

SUMMARY
The X3 previously, from which we can infer that X" maintains 7" are 05
7"773, 1s according to the conclusion of the X723 here.

" The 'w9' is perhaps coming to exclude that we should not think that the exclusion of P 77wa X1 is in addition
to the exclusion of 1"772 X1 (which the p"n maintains). Alternately, since the X3 mentions only *01° " in the
discussion, it was necessary for m»oIn to point out that &"7 maintains the same as *".
2 Tt is not clear why '01n writes 7 *n™» 2"7172 11P», when it would seemingly be more appropriate to write 2"wn
A% o A",
? The same 1" that 0" uses (see the 7awn on 2,7); if 9371 W which are 7105 in 2" are 21 a P37 MYI2 w", so TP
which is 217 (a 1"1) in the "7, should certainly be 217 a w"1 in the P37 M. The 1"'p assumes (a priori) that v
(93) are 1"1772 w9, otherwise there is no 1"p. See ‘Thinking it over’.
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THINKING IT OVER

mooIn assumes that if X" agrees with v"9 that 7797 pays a w"1 in the P17 MW he
must maintain that 7" are 1"7772 2°09; otherwise there can be no 1"|7.4 Perhaps
we can say that 7" are 1"7172 2°Wd and we can utilize a different 1"p, that if 2" W
are 2wy if they damaged p°1ai7 Mw031, nevertheless they are 2°°m a P17 mwn2a w'y,
so 1P which is P e Mwa2 20 (a 1"m),” is certainly w"3 prag nwaa 27n0!°

* See footnote # 3.
> 9" are P°TAn Mwo2 o1wd for we have the exclusion of P17 NWA2 RYY R 77w2 v, however regarding 7P there
is no such exclusion, therefore he will be 217 even P> MwA2.
% See yIRw "o owa p"nuw and TIMINT WIDH XK # 19.
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